Plan for today:
Finish 3.4
Start 3.5

Learning Goals:

1. Be able to set up and solve a differential equation describing a spring-mass system in the presence
or absence of damping. In this lesson we assume no external force.

2. In the case of no damping (free undated), be able to write the solution in the form Ccos(w0t-a)

3. In the presence of damping, be able to determine whether the motion is underdamped, critically
damped, or overdamped.

4. Be able to use the method of undetermined coefficients to solve non-homogeneous equations when
the non-homogeneous term is a linear combination of products of polynomials, exponentials and

trigonometric functions.

Reminders
1. Read the textbook!
2. Quiz should be graded by Monday.
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